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Remember. . . We only use the rows of the left-hand matrix and the columns of the right-hand matrix!

Step 1: Verify that the product is defined. \ )
Step 2: Determine the dimensions of the product matrix.

Step 3: Fill in the entries of the product matrix by multiplying each row of the left matrix with each column of the right
matrix.

1 0 =5
i -2 6 3
EX 1 Multiply 6 2 4 |=
4 1 2
. 1 -1 3 .
0o 2
1 -6 .
EX 2 Multiply |7 2 -3 4 =
aliply [ 1y 2l )
3 -1

8 -1||4 4 3 2
EX 3 Multiply = -
7 S5|-4 5 3 1

n
I
1
- 1




'Ma;rh 3 WS 1.9 Matrix Multiplication

-1 3 5 -4 10 -6
Let A= ,B= ,and C =
2 1 2 =3 . -1 7

L. Find AB, then find BA. Are the products the same? |
e - ‘wi 7 —-";"] o . q ] |
E ° BA=|S
AB= J& ‘_ Fl [ 2 {
2. Find BC, then find CB. Are the products the same?

s e »b] ''''' S\ -7 Pa L,j[ ._ J \3\3 -grg}
’ L A “”JL“\ L &43 -33 CB= J5 L q as

3. Based on your findings, is matrix multiplication Commutative? Explain.

e ”\vzw@u& o do P and < S S atdoea

i

)

Determine whether the product of the matrices is defined. If so, find the product. If not,
write “undefined".

O i o 10—
4. [2 3 4]0 1 ___]_8., Lﬂ.j
I3 1 3]
| a 0.
B — 4
5 0L 3] (3% }’b :*; | \

it
A
xO‘




Use matrix multiplication to solve for each variable.

8. (2 -1 4|l-1|=|y X =2, Y= > )
30 2| x| |2 ~
2 w);x - SUMPLIFY LEFT rya TR [+5)=-S
LI S B - j— , -’N j )é b ~ mQ: - 3 )(M;N_;L\
L!j;‘ﬁf—q Y| = 'Zr L Hyt+ T j - [ 4. j} pe ';: - 2‘)
Lot 2 2+ N &= =
AX L =2 Y3+ =
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S Condy ey ("g =~
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302 4|x 2|=[19 9
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